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BIOLOGY SSC-li
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carrles one mark.

(iif)

(iv)

(i)

(xil)

Right human lung is slightly bigger and has:

A Single lobe B. Two lobes C. Three lobes D. Four lobes
Body balance of water, salts, temperature and glucose is termed as:

A. Excretion B. Tubular secretion

C. Homeostasis D. Re-absorption

Nerves impulses which jump over the areas of myelin sheath going from node to node are called.
A Sensory impulses B. Mechanicat impulses

C. Saltatory impulses D. Chemical impulses

The mature bone cells are:

A Osteoblasts B. Osteoclasts C. Osteocytes D. Cheondrocytes
Oogonia are enclosed in the structure inside ovary called:

A Polar bodies  B. Corpus iutetium C. Follicles D. Somniferous tubules
Microspore germinates into the:

A Femal Gametophyte B. Male gametophyte

C. Male sporophyte D. Female sporophyte

The location of gene on the chromosomes is termed as:

A Allele B. Genotype C. Locus D. Allelomarph

In chromatin, DNA rapes around histone proteins and forms structures caiied.
A. Chromosomes B. Nucleosomes C. Ribosomes D Nuceols

Enrichment of water with inorganic nutrients is called:

A Mineralization B. Eutrophication

C. Mineral contamination D. Mineral depletion

When we eat onions, our trophic jevel is:

A Primary consumer B. Decomposers

C. Secondary consumers D. Producers

Find the correct match for the fermentation product and the organism involved:

A Formic acid-Saccharomyces B. Ethanol-Saccharomyes

C. Ethanol-Aspergillus D. Glycerol-Aspergillus

Special proteins which are present in pathogens and stimulate the immune response In the host are
called:

A Antibiotics B. Antibodies C. Antigens D. Vaccines

For Examiner’s use only:
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BIOLOGY SSC-lI 4

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and tegibly.

Note:

SECTION - B (Marks 33)
Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

i) How can you differentiate between the terms cellular respiration, breathing and gaseous exchange?
ii) Compare the mechanism of inhalation and exhalation in humans.

iii) What are major causes of kidney stone formation?

V) What is reflex arc?

V) What is blind spot and fovea in human eye?

vi) How does negative feedback mechanism help to maintain the glucose level in the blood?

vil) Write three differences between cartilages and bones.

(

(

(

{

(

{

(

(viii)  What is parthenogenesis?
(ix) What are advantages of vegetative propagation?

(x) What are main sources of variations in sexually reproducing populations?

(xi) How can you define (a) Traits (b) Monohybrid cross (c) Organic evolution
(xii) How are bacteria important in nitrogen cycle?

(xiii}  What do you mean by deforestation and what are its impacts on our ecosystem?

(xiv)  What is difference between batch fermentation and continuous fermentation?

(

XV) What are bactericidal and bacteriostatic antibiotics?

SECTION - C {Marks 20}

Attempt any TWO questions. All questions carry equal marks. Also draw labelled diagrams where

necessary. {2 x10 =20)
a. Describe structure of nephron and draw its labelled diagram. {04+02)
b. Describe the osmoregulatory function of kidney? {04)
a, What are the natural ways of vegetative propagation of plants? {06)
b. What is difference between hypogeal and epigeal germination? {04)
a. What are the basic steps of Genetic Engineering? {01+04)
b. What are single cell proteins? Describe their importance? (05)
~—— 285 1710 —
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